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1. Which number will come in the place of 1, ﬁ@% ¥ W‘%ﬂ—?ﬁ e st ?
715 20,15,
(A'] a0 £ (AY 747 3,
(B) 86 _JBT)SE
(C) 90 (€)
(D) 96 (D) 96
2. From the given answer figures, select the 2. @M IW ‘3“3”%'!“ L i‘: B mﬁ’ ﬁﬁ( forer T
one in which the question figure is hidden/ IrHfd gl & / wwrfed 2 |
embedded.
as\ N S| 7 - S N /1
<1} \ N N
) o / a b C d
a b [o- d
{[é; d (B) b —tAd (B) b
a (D) ¢ (€) a (D) ¢
3. Which of the following are three factors of 3. fm=fafes & w-m S F A FFER [ o
production ? .——(ﬁ]‘{ﬁl, a7 3R S
(A) Land, Labour and Water 1M (B) sfw, = 3ﬁ“{f|§ﬁ
(B) Land, Labour and Capital '% Wi e
(C) Labour, Capital and Water 2 (C) =m, ‘Eﬁ 5
(D) None of the above (D) It # & =t 7 \ "
4. _ has launched the US-India Alliance 4. Fre wfeenati % snfle oo ¥ forg
for Women’s Economic Empowerment. .09, -3 sy & frar g 7
(A) US-India Working Group on Human RIS 5 " "
Rights /)‘f s%mq;’;\w st afir g
(B) US-India Peace Agency ( )'*I:-Q?T-- SE| ,
(C) US Agency for International Development _Aersiaisdia fawm % form 9w, v
(D) None of these (D) ¥ & *r$ 78
Directions (Q. No. 5 - 7) : Six persons Fdw (. 9.5 - 7) : 5 =ufF A, B,C,D,E3RF s
A,B.C,D.E a}?d Fl;sittglg fcl;rrtning a:irclg EARECE g R e B, A 3l C ¥t 7,
and facing each other. B is between A an EDMRFEMILIF ASHE0 A 3
C, Eis between Fand D. Fis sitting straight iy ASH R aﬂ(. E
opposite to A and right to E. o0y
5. D is between which of the following 5. D fwfafaa 8§ & frw qm 3 2 7 %@
pairs ? (A) EF —BJ~AE ks ]
}é{ EF {B} ég (C) AB (D) CF
AB ;
. ?
6. Who is at the immediate left of D ? e ?j?g*mmm f
(A) E (B) F
€ B (D) A
7. If the positions of B and E are interchanged 7.
and also that of C and D, A will be in between
which of the following pairs ?
(A) CB (B) ED — (AT TB
(C) FD (D) CE
19
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10.

11,

12,

13.

O

5 %
The ratio between the speed of a train and a
car is 18 : 13. Also, a bus covered a distance
of 480 kms in 12 hours. The speed of the bus

is five-ninth the speed of the train. How much
distance will the car cover in 5 hours ?

(A) 280 km

(B) 250 km

(C) 260 km

(D) Cannot be determined

Which of the following is not a keyboard style ?
(A) QWERTY
(B) AZERTY

(C) DVORAK
(D) QDZERT

U

(]

I travelled 35 km from central point towards
South and then tumed left and travelled 17 km
and finally turned left again and travelled
35 km. How far was I from the starting point ?

(A) 17 km (B) 18 km
(C) 35 km (D) 70 km

Acquittal or conviction comes under
(A) Section 247 of Criminal Procedure
Code, 1973

(B) Section 248 of Criminal Procedure Code,
1973

(C) Section 249 of Criminal Procedure Code,
1973

(D) Section 250 of Criminal Procedure
Code, 1973

Two vessels A and B contain milk
and water mixed in the ratio 5 : 3
and 2 : 3. When these mixtures
are mixed to form a new mixture
containing half milk and half water,
they must be taken in the ratio
(A)2:5 B) 7:3
(C)4:5 (D) 3:5

BCCI announced the following mentor of the
team India for the tournament, which will
be played in UAE and Oman in October and

November 2021 m ‘ L)
(A) Ravi Shashtri 5 "8
(B) M.S. Dhoni \
(C) Sachin Tendulkar y ‘L'—C‘-:’L.
]
(D) Saurar;(?}fjnguly j .}>r »
N3 o190
23
Lalﬁ

Download from www

'3{ &J"EI

-

5 CMES - §2

uh o4 ol wk Ao F odm owm sy
182 13 % (e €, v a3 480 Pt g 202
i medt & | mg A nfagafinfad s/92 | #n
5 %2 ¥ fopeh 2ft @ wof 2

_AY280 fah
(B) 250
(C) 260 fh
(D) fawtfea =t fean s mapen

P i & o -af o i e 3 7
[A)'bzd/ﬁ,R ¢’

(B) AZER
S el
(C) DVORAK

%@Afﬂ %B%EB 2o

10. # S forg & faron 1 i 35 Feft =en
i ad g 17 fopft e ot ofa, =t
wea 35 fereft e, # swrifvres fog 3 Praeft

qar?

—TA] 17 &kt (B) 18 fft
(C) 35 Tt (D) 70 s
2ryyfa  drfafe forae simia s 2 7

(A) iR <8 Wi wfear, 1973 Fi gmr 247
(B) e <8 Wi wfear, 1973 $i 9w 248
ey smufye 22 ik dfgar, 1973 1 ur 249
(D) srrarfirr g8 Wik wfear, 1973 i uwr 250

12. AsHAMBAT T w:foms: 3323
o U A R} | S A fiysyor smen gy ok s o
a1 U T T 9 & for firemn s B, @ 3=

= ffraa w9 & froet srqum o fera s afig
(A)2:5 (B) 7:3
(C)4:5 el
13.

BCCI A wrda & &1 frifeifias weiesn swgen
o TEer 2021 # gu g, 3k oiwE F A wrE
Tt % fere wifda faran 2
(A) T et
(B) wi.ug. €

dgetet
(D) ¥ migeht
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14,

15.

16.

17.

18.

19.
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gl

Select the correct mirror image of the given
figure whcﬂn the mirror is placed at line AB.

L R

-

o

) K B) Ry L

(©)

(D) d

=y

1
T

At what time between 3 and 4 O’ clock is

the angle between the minute hand and the °
hour hand of a clock 75° 2 qﬁnﬁawﬁz’rs !
(A) 3hours:2%minutes MSW:2H 8‘2 5
(B) 3 hours : 30 minutes Boks 1y |37s" (B) 33 : 30 e Rb7
- die r i
(C) 3 hours : 35% minutes 2 PP5 (C) 3w : 351—"'1 firz @ ~
(D) Both (A) and (B) Yo - (D) (A) 3T (B) gt &
The price at which equilibrium is 16. 9% qou o ot dge ura 2a 2,
reached is called as FEAEI B |
(A) Equilibrium price (A) qﬂaq:i?q
(B) Equilibrium quantity (B) q@qqﬁn
(C) Normal price mtﬁ(/
(D) Skimming price (D) farwmet ey
‘Shivering’ during cold is beneficial for 17. FHW % A & for s’ e R
mammals. It helps to B qe_ HEEAA HATR |
(A) Decrease the body temperature %ﬁﬁ (A) IR o AT Y T
(B) Increase the body temperature TR 3 AN ) "
(C) No change in body temperature (C) W%Wﬁﬁfqﬂaﬂqqﬂ
(D) Increase in the heart beat (D) &2 ¥ TET = wgH

The headquarter of South Western Railway
is located at
(A) Mumbai
(C) Secunderabad

(B) Chennai
(D) Hubli

Liberty, Equality and Fraternity are main
principles followed during

(A) Russian Revolution

(B) French Revolution

(C) American War of Independence

(D) Indian Freedom Struggle

75-ey

CMES - S2

14, @ é st % wd adn wfifae gfi s adn 5

?@ABW@W% [

!
B
-
® > L A
ft A
A "
SO R i
i T

15, | 3 3R 4 =9 F o9 § U 9l F 72 oK e areft

18. =i oftm Yo 1 gearer wel fm 7

AR (B) 3
(C) Rreetrame (D) gt

19. e Ao wadaan, wumar ot F
fergiett @ e fapan ma o 7 okl

Rl a

{C]mﬁmwﬁmmgg

(D) YR s gamm ¢

QLX_&““} 1 "Xz'}'
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If 9 men working 7% hours a day can
finish a work in 20 days, then how many
days will be taken by 12 men working
g hours a day to finish the work, it being
given that 3 men of latter type work as
much as 2 men of the former type in the
game time ?

(A) 12% (B) 13

(C) 9% (D) 11

10% discount and then 20% discount in
succession is equivalent to total discount of

g (A) 15% (B) 30%
Eﬂ f5(C) 24% (D) 28%

20.

In a row of children, Sheena is fifth from
left and Beena is sixth from right. If they
interchanged their places, then Shecna
becomes thirteenth from left. In this
condition, what place will be occupied by
Beena from right ?
(A) Fourth

(C) Fifteenth

22.

(B) Fourteenth
(D) Eighteenth
3. Thalinomics is related to

(A] Cost of a plate of food
ﬂg} Cost of a telephone call

(C) Cost of a marriage ceremony
(D) Cost of a basket of vegetables

0

24, Cockroaches are
(A) Monoecious
(C) Dioecious

(B) Monoplatus
(D) Dendrou:

25. ARPANET stands for E
(A) All Record Projects Agency Ne rk
(B) Asynchronous Records Agency Network
(C) Advanced Research Projects Agency
Network
Asynchronous Research Projects Agency
Network

26. Each of the 144 residents in a Huusin_g
Society, Tata Steel can speak cither Hindi,
English or Sanskrit. Some residents can
speak more than one language, but 75%
residents cannot speak all three languages.
There are 43 residents who cannot speak
Hindi, 68 residents who cannot speak
English and 32 residents who cannot speak
Sanskrit. Find the number of residents who
Can speak exactly two of these languages.

(A) 36 (B) 40
() 65 (D) 73

=
¢

I
— '

e L
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20. 3R 9 TEH T & A 7 4 H T T T HH H
20 fo&i B qu R g €, A1 12 et A d 6w
& e Tl 8§ moqu w0 wa €, w6 i
o1 @ & T e et v & 3 et Iamd Fm

Fd & 90 7 W % 2 el FR & ?
12% (B) 13

(C) 9% 11

10% = g2 3 it w1 @ fiR 20% T e foret
2 & TR R 7

(A) 15% (B) 30%

(C) 24% AD) 28%

F=d1 ) U Ufa |, sl ard & iee 31 s e
A adt 2 | afe 3 A wE 39w 1 sed ol 8, al
i =d & el ) o @ | 3w e o s g
T Y -1 T o srom ?

fx) =

(C) UsEaT (Qy FSEd
ml%nﬁﬁ\ag YuaftE |
(A)@gﬂﬁ@@zﬁm

3 TP Fiet it T
) & faTe T A @

(D) Gferdl = T 2wt i AT

forerae 8

(A) FERTES By HririeE

(C) SrAfTE (D) ¥zH
AR S A e

(A) 3T Tt ey Gl e

(B) UftrE fa i Tead

(C) e frad S T Feah

26. 1 e s s Al 3 e 144 Fram
3 o, S o di e A €| 0 Pl o
ﬁaﬁmma’mm%,éﬁm%%ﬁmmm
mﬁqﬂﬁmmﬁmsﬁmﬁ%ﬁﬁﬁmm%,
68ﬁarmaiﬁﬁﬁa€fﬁmwﬂ%am32ﬁa@ﬁ@a
?ﬁa‘mm%mﬁaﬁ:ﬁﬁmﬁaﬁ%ﬁﬁ
s 3 2 2 e e W €|

(B) 40
-
g% (C) 65
@ iE

21.

22,

23.

25.

(D) 73
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27. A 175 meters long train crosses a 35 melers 27. H 175 M ¢ 35&(%5'3“5‘[:‘_ Hl 12 %4y
platform .in 12 scconds. What is the speed # qr et @ 1 37 St mifar et /w2 AHe?
of the train in km/hr ? 59
(A) 42 (B) 59 (A) 42 /tBT’
(C) 63 (D) 64 () 63 (D) 64
EXE
28. is spending within budgcl%ﬁ 28. _____m% T |
(A) Fiscal debt R (A) TR 60T
(B) Fiscal prudence (B) Terehrdi Grasr
(€) Fiscal consolidation Wm
(D) None of the above (D) I 3 A g T
29. Sosr;sigzr the following statements about 29, 3-URF q?m L ﬁ'ﬂgdﬁ‘iﬂ Eﬁﬂil T feem |
- 1 Ru T fi Em wda R |
I. Itis an initiative of ministry of exte 7
affairs, B s II. 9839 mm,ﬁﬁﬁ%%ﬂmﬁm
IL. ltailtm Stpmrvidi?gacentralizedplaﬁonnfor 7a M, T W o w79 Wa aw=mEs
contactless, faceless, cashless and paperles e /aeaes /R JqETEY
document vcﬁﬁcation/attestaﬁonl/)ageosﬁnz 4 / / oa sy
service for_ Indian citizens, foreigners who g ﬂ"_ﬂﬁ whewi 8, et i & e
have obtained"documents from document SReRal SRR | FTas W R § |
1ssuing authorities in Infiia. (A ST [T R
(A) Only the statement I is correct * e I 3
(B) Only the statement 1 is correct - (B FU 11 9
(C) Both the statements 1 and Il are correct |~ —TC) 2Rt % 1 3R 11 7 &
(D) None of the above (D) IR & A Frd 7
30. Indian Council of Agricultural Re- 30, ifew wife st mmtm.ﬁ.%m.)
(ICAR)-National Research Centre r .1es - e P de 34 T (WA H )
(NRCE) located in of B }C ﬂ'& S e i ffme ?
(A) Hisar (B - (A) fmm (B) feren
(C) Karnal aiwani VR E _(cyeem (D) frarh
31. In which of the follow’ _ wvays, a browser 31. F=fofaa A @ o ol @ & seer aedndfifem
supports multimedia data ? TR TRE AR 7
(A) Native Support (B) Plug-ins ,«W”ﬁmﬁ# (B) <m-34
(C) Helper Programs (D) All of these (C) wET Sy (D) Awh
32. The Great Leap Forward Campaign was 32. WEM v s afamad _ F sy gam |
initiated in the year
(IR)I e &) 1972 (A) 1948 _(B}4972
3 Lont (D) 1958 (C) 1980 (D) 1958
33. Telecommunications Business Act, called 33. FWAN HREN mﬁﬁm " e e e
the “Anti-Google law” is related to U___ dwafmd )
BRE () South Korea (B) North Korea (A) i e (B) I Hiftn
g5 (C) Russia (D) China (D) ==
34, How many terms of the AP 80, 75,70, ... are | 34, WA 80, 75, 70, ... & FFey &l A SpgA W
required to make their sum equal to zero ? T S ¥ aw g 2
(A) 25 (B) 30 (A) 25 (B) 30
(C) 32 (D) 33 __feys82 (D) 33

3 Tr
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35.

s

37.

38.

39.

40.

onsumer Price Index for Industrial
Workers (CPI-1W)

c o
k%-ﬂw ‘J__' -~
"'L”:’-'?:S- -2-_—"’ '
ol e
oo s

is used to regulate the Dearness
Allowance (DA) of government stafl and
industrial workers.

(B) Consumer Price Index (CPI)

(C) Wholesale Price Index (WPI)

(D) Wholesale Price Index for Industrial
Workers (WPI-IW)

How many 6’s are there in the following
number sequence which are immediately
preceded by 9 but not immediately
followed by 4 ?

56432963164964215967214
749642

(A) One (B) Three

(C) Two (D) Four

A magbleg tue is being carved by a
-3dulgtor.

the first week 35% is cut away,
,in| the second week 20% of the remainder
is cut away and in the third week 25% of

~the remainder is cut away and polished
to produce the final statue. The weight of
the final statue is 48.75 lbs. What was the
weight of the original piece of marble ?

(A) 100 Ib (B) 110 Ib

(C) 115 Ib (D) 125 Ib

(7)* x(3)* =(6)° = 343 4
(A) 12348 =T o
(B) 85.75 2y &

(C) 1543.5 LB L

(D) 257.25 J > <)

Which letter will be the fifth from the right
if the first and the second, the third and the
fourth and so on are interchanged in the
word ‘COMPANIONATE’ ?

ocPmuA

(A) A (B) I
(C) N (D) O
Who gave the statement as, “a single shelf
of a good European library was worth the
whole native literature of India and Arabia” ?

(A) Charles Wood .
(B) Macaulay Cf 2L (
(C) Rajaram Mohan Roy
(D) Swami vivekananda T,
¢ = ’2-_; f Yy -7-
= p 1S T 2
.y a= v-—'?‘.

Download from www.MsEducationTv.com
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35. o A wEwrd w2 s shenfien
mmﬁ%gﬂﬁmwT (fz.u.) =1 Frafia =6 %

FJF@E (A) mﬁmmm@mm(mmm_
B]a:pg,mﬁuzém iR
() Brerde | 329 ( rﬂ
(D) Breriiet I| F3HH EI

ot - 378,85, )

36. ﬁmﬁ%ﬂmmﬁ@ﬁmﬁa%ﬁﬁgmé
qedl O 2 Yig qid aa 4 Tl AT ? X
56432963164964215967214
749642
(A) T (B) @

— TR (D) =1

a7. uw giiER g @mwoR @ ofd w@ sE . ow
% | yea gwE # 35% e o 5 }, T AR H
9 F1 20% e fn smar ® ot fret weane # W
=T 25% e faar siar & iR sifom 7fd s & fom
wiferer fora wman @ | ifaw gfd #1997 48.75 1bs 2,
FHTHL o Tl ghS il I Tahaan oT 7
(A) 100 Ib (B) 1101b

—H€riisiv (D) 125 Ib

38. (7)’ x(3)°+(6)’=
(A) 12348 393x37 — 36
(B) 85.75
(C) 1543.5

/fDT257.25

39. FHMH-WT A& I { wiwan g af wsa
‘COMPANIONATE’ # ygat 3R 3a, diat 3 =g

3 31 oft e w1 T 0 & wew W 2
(A) A (B) 1
S N (D) O
40. g wram e on % o 3R QU geaeTe
wqmmmaﬁtmﬁ%@&xﬁaﬁm%m
g’ 7
);amig's
/!ﬂ'ﬂiﬁré
(C) T HYe Ty
Xﬁﬁﬁéﬁ?m
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41.

42.

43,

44,

45,

46.

47.

48,

19

T st ) N Mo
ol 3¢ e st 1g H. ,/?Aﬁ ES - S2
P R [T W poi
704 ST e, B
DY BT D N - el —
(e 64 E . mmg&'ﬂ ?
United Nations Organisation came into 41. ‘ﬂ'ﬂﬂﬁw i
force on gatt 1945
(A) 24™ January 1945 (B) 24 feaw 1945
B) 24" Decernber 1945
EC; 24" October 1945 (€) 24 R 1945
945
(D) 24" April 1945 (D) 24 3% 1 Sk 3 G
gEasi 4t
. is an example for covalent or 42. ——
network solid. W% : ZnS
(A) MgO (B) ZnS (A) MgO (D) CaF,
(C) SiC (D) CaF, (C) SiC &
* e e R ) & S dget st
_ _is a high speed memory 43. W)amﬂ%aﬂtmmm
available inside Central Processing g ( . ?{*maﬁ(mﬁqﬁﬁiﬁmﬁ
Unit (CPU) to speed up access of data (tw) # veTfd
and instructions stored in Random il
Access Memory (RAM). (A) et
(A) Registers o1 AT
(B) Cache memory (B) frft A (’l’l‘q)
(C) Read Only Memory (ROM) PN
(D) Random Access Memory (RAM) (D) trew vt FHId ()
The batting average for 30 innings of a | 44. TF e faagt 1 30 gFm 3
cricket player is 40 runs. His highest score 40 W 2 | 39! ARHaH R, AAH TR
exceeds his lowest score by 100 runs. If these 100 @ a1t 21 3Rk 39 @ 3Fm =i 7 wia =
two innings are not included, the average 9, @ 9 28 3 F forw IEe g 38 1
of the remaining 28 innings is 38 runs. The ; faeret W'ﬁm 2
lowest score of the player is e 13w i Ty
(A) 15 (B) 20 (A) 15 (B) 20
(C) 18 (D) 12 _Icp18 (D) 12
Rivers Alakananda and Bhagirathi join to 45, IeFFe 3 wried afat T @y
make river Ganga near . THF foru _ Fymfadd) El
(A) Devprayag (B) Vishnuprayag AT Sarsam @) fawpam EiE
(C) Nandprayag (D) Rudraprayag (& TR FEYATT
Unauthorized use of trademark is 46, 33‘?‘?& £ 31"1'&1?76 39T Y Fwqd
known as EicitIciE | ik
(A) Cyber haking (B) Cyber squatting (6‘(]/ Hrgar 2fdh (B) wEs-warten
(C) Cyber spacing (D) None of these (C) aRe wfim (D) 34 @ &g 78
United Nations High Commissioner for 47, wonffai iien EEiocn
Refugees (UNHCR), second time won mmﬁi‘l : T (4079 4.3
the Nobel Peace Prize in the year - i FR R e ?
(A) 2021 (B) 2020 (A) 2021 2020
(C) 2019 (D) None of the above (C) 2019 (D) I Q F1§ 78
Yeast commonly reproduce by 48. g HWAR | B Ywaria
(A) Budding (B) Fragmentation st |
(A) BFe= :
(C) Spore formation (D) Acids ’?BT’ T (wrmim)
(C) sy o (D) ¥ (ufire)
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49.

/(.B‘[‘Arithmetic Logic Unit

50.

52.

53.

54.

55.

ALU stands for
(A) Algebraic Logic Unit

(C) Algebraic Logarithmic Unit

(D) Arithmetic Logarithmic Unit

Tradeable instrument issued by the Central
Government or the State Governments is
(A) Government Security (G-Sec)

(B) Share bonds

(C) Salary bills

(D) Demand drafts

Fertilization in reptiles is

(A) Absent (B) External

(C) Very rare (D) Internal

To create new e-mail is used.

{A) Compose mail /ﬁ' ‘Forward mail
((;L Attach mail (t?) Reply

Three positions of a cube are shown below.
What will come opposite to face containing $ ?

Pl WF +

$ + & |*| S/ %
£+ N
(A) % (B) &
(C) A (D) +

The famous Harappan Sites Lothal and
Dholavira are in the state of

(A) Gujarat (B) Rajasthan
(C) Haryana (D) Bihar

In a certain code, ‘RAINBOW’ is written as
BOWNRAI’. How is ‘GERMANY’ written in

that code ? @
(A) ANYMGER (B) AMNYGER é] 4
(C) ANYMEGR (D) AYNMGER =~

Elections to the Constituent Assembly were
held in

(A) August 1940

(B) July 1946

(C) September 1951

(D) None of the above

CMES - S2

49, TUUA.q, N AqaE &

51, TR am e # fiea 2

s2. Hi-dmwmEfw__ -

53, THT A A R R A iR | $ A 7S
% i = o 7

$ * * & *

A) % s Bk
(€) A o+ 4 A
54. ufig eew we wge sl dreET & o ¢

 T=gHiE
R /{B{’Wﬁ
(C_sztam (D) famm

55. UF F2H ‘RAINBOW’ ®I ‘BOWNRAL forar sl

% |38 32 § ‘GERMANY’ Ft 33 foran s

((.A()' ANYMGER

((g ANYMEGR

(B) AMNYGER
(D) AYNMGER

56. iy v % fore g Fa g 41 ?
(A) 3T 1940
(B) T§ 1946
/&Cf foea 1951

(D) Iuira & & FI§ TE

19
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58,

59,

61,

62,

63.

65.

19

the ratio of force constant of A to that of Bis
(A) 1 B) %
€ 2 (D) V2
is the electronic version
which usually resides in computer m
(A) Soft copy (B) Hard copy

(C) Print out (D) None of the above

in surroundings.
(A) Case poverty
(C) Absolute poverty

The batch of consists of State
Emblem and Two Stars.

(A) Director General of Police

(B) Inspector General of Police

(C) Deputy Inspector General of Police
(D) Senior Superintendent of Police

Which of the following economy also called
as laissez faire ?

(A) Mixed economy

(B) Capitalist economy

(C) Socialist economy

(D) None of the above

Which ovary is said to be Inferior ?

(A) Ectogyny (B) Perigyny

(C) Epigyny (D) Hypogyny

To link the documents on the internet we use

(A) Hyper media (B) Hyper text
(C) Hyper link

(B) Asset poverty

(D) None of the above

Doha declaration is related to
(A) TRIPS agreement

(B) UNCLOS agreement

(C) BIMSTEK agreement

(D) TRANSS agreement

The L.C.M. of gaB +b3)and (a“ _b“) is
(A) (a3 +b?) (a + b‘)(a -b)

B) (a® +b3)(a+b)(a2 +b?)

(©) EB*‘b)(az +£lb+b2)(8.3 +b3)

B () (o))

ofan output,
emory,

(D) Relative poverty

1
&
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58.

59.

60.

62

64.
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66. What is the minimum number of cuts 66. UFHHAFH 343 g:mrtaﬁ o ed & fere aifea =aw
required to cut a cube into 343 pieces ? 12 & e 2
(A) 19 (B) 24 —A7 19 By 24
C) 18 (D) 21 (C) 18 (DY 21
67. Which of the following is not a type of RAM ? | 67. Freaferfaa 3 @ FA-a1 tew R wEh (W)
. (A) Dynamic Random Access Memory @Wﬂqﬁﬁ ?
(DRAM)
(B) Static Random Access Memory (SRAM) (A) T tren TR A (@)

i

(C) Synchronous Dynamic Random Access
Memory (SDRAM)

(D) Parameter Random Access Memory
(PRAM)

68. Which metal has lowest melting point ?

(A) Tungsten (B) Gallium
(C) Germanium (D) Zirconium

69. Auguste Comte named the scientific study

of social patterns as
(A) Determinism

(B) Positivism

(C) Behaviourism
(D) Relativism

70. Which of the following is not a symptoms of
altitude sickness ?
(A) Nausea (B) Heart palpitations

(C) Fatigue (D) Diarrhea

White Label ATMs or WLAs, are the ATMs
set up, owned and operated by

__AAT Scheduled Commercial Banks

(B) Non-Banks

71

(C) Reserve Bank of India (RBI) ET@EJ
(D) None of the above S el

A dice is numbered from 1 to 6 in different
ways. If 1 is adjacent to 2, 4 and 6, then which
of the following statements is necessarily
true ?

(A) 1 is adjacent to 3

(B) 2 is opposite to 6

(C) 3 is adjacent to 5

(D) 3 is opposite to 5

72.

73. A 30-pin Single In-Line Memory Modulus

(SIMM) used in older system boards, which
deliver byte of data.

(A) 1 (B) 2

(C) 3 (D) 4
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(B) éﬁiﬁmmﬂ'ﬂhﬁf@h}
(c) fwia e trew vaRE AN (UE.E2m)
ﬂmmqﬁ'ﬂﬁﬁ GikC)

68. i w1 1 eI A € 7
; (B) Aferm

70. Frefefad § & FR-a1 arcfees Rea 1 0
A aE R ?
— oy Tt

(C) =M

(B) & I UgHA
(D) srf@

71. e d9d UA W, e ua ., tAw, R

g0 xuTfig i denfera frn s 2
A TGl arfofys
(B) M &=
(C) frord e 3k 3fean (st ams.)
(D) 390 # & Fid T4

T T gEt ol @ wenn 19 6 fadt g R ) ke
T 1, G 2, 4 3N 6 % HeE B, frafafia
§ ¥ FH-91 F94 AAfard ®9 8 g wm 7

72.

(A) 1, 3 % a7rad & ]"‘--,.

(B) 2, 6 % faudfia gm Zkt’
(Cy3, 5% = B R A ¥ e

(D) 3, 5 % fauda gm o S 4

73. UM fereen aré # ua 30-fr Fame] e Al
e (@, T, T, ) S o e &, 5 srtes
SR EREFe|

F
(A) 1 (B) 2
1€ 3 (D) 4
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75.

76,

77.

78.

80.

81.
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It deals with the inte
ancient literature of
texts

(A) Archaeology

(C) Anthropology

If n identical dro
to form a big
of bigger drop,
mercury is C, is

(A) n*C (B) nC

(C) n*C (D) n*C

Who was the first President of U.S.A. 7
(A) George Bush

(B) George Washington

(C) Thomas Jefferson

(D) John Kennedy

rpretation of classical
ancient Indian society

(B) Indology
(D) Demography
ps of mercury are combined

ger drop, then the capacity
il capacity of each drop of

The theme of International Youth Day 2021 is

(A) Transforming Education

(B) Youth Engagement for Global Action

(C) Transforming Food Systems : Youth
Innovation for Human and Planetary
Health

(D) None of the above &

Polymorphism arises due to (=
(A) Mutations (B) Evolution

(C) Recombination (D) Transformation
Which of the following is the principal form
of carbohydrate which can translocate

throughout the plant by Phloem ?
(A) Cellulose (B) Sucrose

(C) Maltose (D) Lactose

A scientific study of the nature, extent, cause
and control of criminal behavior is called as

(A) Criminology (B) Indian Penal Code
(C) Penology (D) None of the above

The exchange rate is determined by the market
forces of demand and supply is called as

(A) Fixed exchange rate

(B) Foreign exchange rate

(C) Flexible exchange rate

(D) None of these

Animals possessing coelom are called
(A) Coelomates (B) Acoelomates

(C) Pseudocoelomates (D) None of these
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ARr-fadeft fafnry = 7
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82. Hieim Tt Tl i e
(A) Witz (—‘{‘Bra‘fm?‘lﬂz
(C) TEidfieie (D) ¥ & =rd =off
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In the question, two statements are given
followed by two conclusions. Choose the
Conclusion (s) which best fit (s) logically.
statements :

1. Some A are B

9. Some B are not C

Conclusions :
. NoBisC
{l. Some A are C
(A) Only conclusion II follows
(B) Only conclusion I follows
(C) Both conclusion I and II follows
(D) None of the conclusion follows

83.

Find the missing term.
2,4,16, 128,7

(A) 2041

! (C) 2046
85. Indian standard time is
(A) 5.30 hrs ahead of Greenwich Mean Time
| (GMT)
' (B) 5.30 hrs behind of Greenwich Mean

Time (GMT)
(C) 5 head of @feepuictf Megn Time
wich Mean Time (GMT)

D) behind of
Which of the following ministries of Central
Government has launched the Scheme for
Good Samaritans ?

(A) Ministry of Road Transport and Highways
(B) Ministry of Home Affairs

(C) Ministry of Railways

(D) None of the above

(B) 2045
(D) 2048

87. 1.6 expressed asa fraction is

16 g 18
(mm ”og

(C) 4 (D) None of these
3

Chef : Kitchen :: Artist © ?

' (X) Cabin [B'r Factory

I! (Cy'Theatre (DX Casino

89. The Dose of Malathion is
(A) 0.75 % (B) 0.25%
(C) 0.50 % (D) 0.1 %

The Delimitation Commission is appointed

by the President for the purpose of

(A) Drawing up the poundaries of
constituencies all over the country

(B) Drawing up the boundarics of states

all over the country ) -
(C) Drawing up the boundaries of union

territories all over the countiry
(D) None of the above

g
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91. Fill in the blank with appropriate modals
from the alternatives given below it.
You have a holiday tomorrow.
—need (B) shall
{C) dare {ga none of these

92. Fill in the blank in the following

sentence using the verb forms of the

word given in the bracket from the

alternatives given below it :

He is trying to

(A) justice

(C,Liustiﬁcation
~~

Fill in the blank with appropriate concord

from the alternatives given below it.

The accused together with his associates

arrested.
Rﬁ] are (ﬁT were
—f{Erwas (D) has

English Language

( justice) his claims,
justify

(D) juridic

93.

94. In the following question, there is a

statement followed by three starters which
are denoted by a, b and ¢. Each starter is
a group of the first few words of a sentence
which, on proper completion, is supposed
to convey the same meaning as the original
statement. Find out which starter(s) can
form grammatically correct sentence(s) to
convey the same meaning as the original
statement.

No sooner did the band start to play than
the lights went off.

A¢ As soon as the band .............

b. The lights went off .............

¢e The band started to play ....cv.....
A Only b (B) All the three

(C) Either a or ¢ (D) Either b or ¢

95. Give the meaning of the underlined idiomatic
cxpression from the alternatives given below
it. {understanding the context from the
sentence).

Dull and long speeches tax the patience of
the audience.
(A] to spend time usefully
to test one’s patience
major part
[[3%_ to seek to fight
19
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